1/ 0gijer A0dijet/ A X dijet

MC /Data

Xdijet for 1.5TeV < Mj; < 19TeV, |y1 +y2[/2 < 1.11, /s =7 TeV

7\ ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T \7
B —+— Data ]
0.1 — —+— Analysis_Alaric_FI_1emnc
r —+— Analysis CSS_FI_1em npN
0.08 — ’:ll_—'égs'is__A'laric_Stah‘tSeale
S | —— | 1 Apalysis GSS Startgecale U
=y b M
oos  EEEF T T =
L : ! | | 7]
0.04 | — ]
0.02 — _]

o 4+
1.4 = =
13 E =
12 £ —l_l_’: ' | =
1.1 & | L1 1 | — I R E

1 Eg—0—190_—¢—¢ . * . t ——
0.9 BT T —— I =
0.8 = I [ —=
07 = =
8:8 g\ ‘ T ‘ T ‘ T ‘ T ‘ T T ‘ [ \é

2 4 6 8 0 12 14 16

=
a
=
o]
o3



